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Time allowed: 20 Minutes

é (
PRINCIPLES OF COMMERCE HSSC-I }
SECTION - A (Marks 15)

| Version Number [3 (17 [1]

Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 20 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1

Choose the correct answer A/ B/ C /D by filling the relevant bubble for each question on the ONMR
Answer Sheet according to the instructions given there, Each part carries one mark.

1)

2}

3)

4)

7

10)

1)

12)

13)

14)

15)

Primary industry can be divided into two parts:

A. Extractive, genetics 8. Constructive, genetics

C. Extractive, manufacturing D. Constructive, manufacturing
The persons who manage the affairs of a company are called: '
A The shareholders B. The debenture holders

C. The promoters D. The directors

The shareholders shouid be informed about the statutory meeﬁng at least:

A 14 days before B. 21 days before C. 7 days before D. 12 days before
A consumer has a direct link with: ’
A, Retailer B. Wholesaler C. Industrialist D. Agent

What is written in business letter after complimentary close?

A Signature B. Salutation C. Subject D. Name of addressee
The letters which are written to debtors who do not pay their debts on due dates are called:
A Letters of credit - B. Collection letters

C. Adjustment lefters ' D. Complaint letters

The wholesaler creates a link between:

A Retailer and consumer B. Retailer and manufacturer

C. Consumer and manufacturer D. Manufacturer and government
The person who makes arrangemenits for the departure of goods is a/an:

A. Underwriter B. Clearing agent

C. Commission agent D. Forwarding agent

The audit of a public limited company is:

A, Necessary on yearly basis B. Not necessary

C. Necessary after every three years D. Necessary after every six years
How many types of accidental insurance are there?

A One B. Two C. Three D. Four
Holding company is a company which has:

A, No shares of other company

B. Less than 50% shares of other company
C. More than 50% shares of other company
D. 50% shares of other company

Typewriter was invented in:

A, 1870 AD B. 1873 AD C. 1973 AD b. 1637 AD
The maximum number of partners in banking business are:

A Ten B. Twenty C. Thirty D. Fifty

in Shirkat-ul-Anan the shareholders/partners invest:

A Only cash B. Cash and goods

C. Only goods D. Only furniture

Channel of distribution is a route used by a set of independent business institutions to supply:
A Goods and Informations B. Services and Informations

C. Inférmations ) "D. Goods and services
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PRINCIPLES OF COMMERCE HSSCH

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the sepafat;iy
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION — B (Marks 36)
Q.2  Attempt any NINE parts. The answer to each part should notf exceed 5 to 6 lines. {9x4=36)

(i) Briefly explain the types of foreign trade.

{ii) Why is the life of sole tradership is limited?

(iii) Define the joint stock company.

{iv) State the objectives of a co-operative society.

(v) Define ‘clearing agent’. '

(vi) What is meant by advertisement?

(vii) What is meant by marine insurance?

{viin) List down the types of means of transgortation.

{ix) State the importance of warehousing.

() Write short notes on:

a) Calculators b) Invoice Machine
(xi} State the methods of indexing. |
{xiiy  Write four merits of good filing system.
' 'SECTION - C (Marks 24)

Note: Attenipt any TWO questions. All questions carry equal marks. {2x12=24)
Q.3 Whatis meant by business? Describe its objectives and functions

. Q.4 Define partnership. Why is partnership considered better as compared to other business organizations?

Q.5 Define business finance and discuss its importance.
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